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Yo aiclt a2

Level-1 Posts CEN-02/2018

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

*' 13.69 F FHw gl

Ans 1. 0.037
v2 37
X3 0.37
X 4 37

Q2 o z= ey & froeeT 0.8 TFs & e o e o #1 e s & Seaer e e

(g=10m/s? )

Ans X 1.320 m
X2032m
X332m
v432m

Q3
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HEA (Ill) HTeEss & [WA=F G gl
Ans - X 1. FeO

X 2. FesO4

W 3 FesO4

X 4 FegOy

Q4 e Fw A T TR AN GhF FA 4 AR 6 B F 0w FE 9@ W v §1 The F e w0
o e Al ek 2 Rt & e swd anfde gaml AW FE A Q@ A & v 3= e T
HTERTRAT grei?

Ans o116
X222
<308
X412

M AR 4y -y = BER A OF +yD: 03 —y?) =2
Ans X 1. 16:1
X2 259
Vs 1355
X 817

Q.6
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faw v At A Tt # crEEe 1§ i 99 B #lF @ et aftE v @ wua w7 s
= §
FUA:
o Tl 9 UET R
* FT T T E
o=y
I Tl gy 54 &
. T o1 gt &

MUK A A 3R A &1 SHgET T B
v 2. Faer e 1| HFEToT FEa g
X 3 2 w3 =
X 4 Fad A | HFHIT FIAT 2

Q7 s e o s s Rr demtfr e s = & T IGTET BT A E

M g gerie
X 2 ag
X3 e
X 4 T HT TR

Q8 T s Toa & T Fua & EES ¥ BT ¥ 9% v 27

A

Fr AT F 5N T FH TER H RS § AT ImRe?

GES

|. &, HTeT aTer WA F THY T T A AT S HAr O e F TeA g e
Il. &, gH e gfT ET e Aifee R AfeEr FEETRE T ¥ A9 TEA T A

e XigarldRad il gger
X2lsg gt & goer &
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ViFaagr |l vET g
XiFgadgr |l 9o &

Q9 3fr TEEN =T 205514 f3r@r smar &, & ENTER ¥ ¢ iz a7 gem?
Ans X 1. 51420618

< 2. 51520518

< 3 51520618

v 4 51420518

% Quw efauufEy e  geE 31 981380 Sfumad gEe §
3R T 450 qHmad f3xm § gH. 6N e| 2 a8 fey femm
Bl R TR §7?

ms X1 IR
X 2 gfero
v FW - uit|
X4 JW - 5@

U 54, 66 3T 90 F FET. &
ae 19

X2 3

v 6
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Q.1 .
> € 31,250 9 8% aféw ax & 2 2 ol & wwgfe = R gem?

Ans X1 F 7337
X 2 F 7800
X 3 F 7300
v+ F 7387

S e erefa & ol @1 dorm 319 B3

Ans K119
v2 17
X318
X416

%' SRE] GEAT 57 AT ded e g §-
A o deatE A

X2 fedlier &

X 3 p-golles W
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X4 sTolle |

°é1mﬁﬂﬁmmm‘;ﬁa—?ﬁﬁmm TAEH FT T I OIEST FT &7 8

A of 1. SfeEe
X 2 THAEeA
X3 SR
X+ Rfews

061 T dF F a T, b T U ¢ ¥ AFF ] T ab ¢ 13:10 N bic 1 6:13 §, dT abic S A T

Ans X113 :6: 10
X213:6:13
X<313:60: 13
v+ 39 :30: 65

%! Rl 95 W goT g I W qoe i Al s gl 2

Ans

X . 5g% F T
v 2 FEF H Jollr # HiOF

X 3. deeF N Joldl H FH
X 4 3EUTEHT
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Q{; ofy “LAME” #t JYKC & &7 # F1= B Smar &, & “MINE” & 50 o & &3 Bmr s

Ans X1 KJGC
X 2 KHGC
v 2 KGLC
X 4 KLGC

Q.1 The size of the image formed by a converging mirror when object is placed at principal focus is .
9

Ans 1. of the same size
/< 2. point image

« 3. highly magnified
X 4 diminished

Q.2 3 1125 &1 &= 7o ¥ v By &% W T 27 7 4= 9°F 21T & TUROT ST $r I1F 23

0 et gt

Ans o 1.9.6%
X2 7.2%
X3 24%
X4 12%
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Q.2 fimr ABC #, g D 3T E F#r AB 3 AC s=mait <% 2w §1 DE, 3R BC & =i ¥1 O,
BE 3T CD =t wfa=dess fiig &1 ofy AD:DB = 4:3 &, & DO 3% DC & 3guie 71a Hifew

Ans X151 12
v 4:11
X35:7
X43:7

Q2 Fgwas sic A B 3K C U ST & 6 T2 F o7 Toa §1 2 U2 I% UF 1Y FE & & g5 C
2 gz o fomr AT 1 W R T wEs AT A 3K B 7 62 & 5 @S §1 U9 9T C 2@ Senw #
W= # o =9 wEE

A o114
X210
X3 12
X416

Y o ¥ ¥ Rw F aTedeT
Si, P, Ge, AT As
Ans X 1. Ge
X2 As
v P
X 4 S

Q.2
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fear a1 urs =91 feuRR 2017 9@ YRd & fafiF S&f gRI
YT TR-Fsaes Iufi (NPA) & R § IH&R! gRiidr gl

o

B

gfe @it §&! & 3fdiid $a NPA z 300 TG RIS ¢ df
femR 2017 d@& d& “E” &1 NPA fhal (z 7R oS H)

g2

Ans X 1. 40
X2 20
< 3 80
v 4 860

Y o # ¥ w5

W23

110

L12

Q17

as X 1D
X2c
v:B
XA
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Q.2 g, mger A FHT F AT I & T F 3 & T F =T AT § 05F A F #
6

Ans X1 Ry qs
X2
V5 sy
X4.g;|-'|j

92 A galvanometer is used to:

Ans 1. detect the direction of magnetic induction

/< 2. detect the direction of sound
/< 3. detect the direction of light

« 4 detect the direction of current

% U U gy FI u¢ R MUy & S Fufifad § 9 e W
HYT UY &1 IR ¢4 & o uai gl

A

FYS ABC &1 &9%d T 872
ATPIRI:

1) a
A

2) AB'= 1Z em: BC =12 em

At X pag 2 gaTE B |
X2 gy ar 1 3ar 2 yai gl

B
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V'3 gFT g 1 3R 2 mafg g
X+ had 1 O g |

Q.2 fareat ¥ T F R, g & onfle et F oo Refle aifde @8 o wme
9

Ans xl \fﬁ
V2 FERT
K3 oordy
X 4 FHah

% faug & 9

OA|Q|@

A B C D
Ans X 1D
X2B
v cC
X2 A

Q.3

Page (11)

(& Teachingninia.in



fafee Faa & T Bg | 711 & & & w9 & 306 & awone & W= §| Fuw i aromst w
e =1 3k Bl o & Silad aone sue F et

ERET

TF AT F HTA AL F T, "HF TF W TE ISAT FE F FROT F T O §

Biniie

. % 5 ¥ Hiem §er ¥ |

Il frar aitr ofar A7 3 5§

Ane X 2=t & umwom | s 1 saffee A §
X 2 gt & uwor | # 1 sERkE
V'3 SFaer uIoT | AafEfea g
X 4 Ferer UIOT || Aa=ET 2

°é3 X, x+3, x+5, x+8, x+9 UUT F7 @ew 9 T AT A7 Javoit F ATy Fr g
Ans 35
X1—
3
31
2' TR
x 2
34
v
3
az
K
3
Q.3 :
A #H AT @RI Tt &1 Hehe gl

e X ST
v FEm
X 3 TERfhT
X 4 I
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Q.3 iy vF AR HqEE F AN TH TEH qEE F THAN F W@ §, a1 306 SIEA F AT ;T
4 311-"-9

Ans X 1.12:11
X27:11
X36:11
vii14 1 11

% SfER THTT F EEUGF A A2
o gty

X 2 weT &7 vuA

X s iy

X 4 g

Q.3 dume & o g w Afger gt (EWRs) F e frw S dwem & wogear wiemr sewa

6 & qmama #?
Ans xl + -'I'i'{iGI' +
X 2 fager "5areT

v o mfger v a9 S T
X 4 FEpia F@Ie™
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%’ 35, 53 3R 85 Fr AW FEA F T, gl
Ans X 1. UoeholTae

v gener

X3 g

X4 ST

U3 Femrgard # e o 97 @A T WA __ AElE e F1 e w1 gl

Ans 1. 400
2 360
3. 480
4 380

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

% Rrafafd SEeT F1 MM 3F AT S
W, 18, 25 37 2
ane 1. 5Q
X2 45
V'3 52
X4 42
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064ﬁmﬁﬁﬂammﬁm,maﬁﬁa{@mﬁmaﬁﬁ(?)tmwm

ge B

Ans 1 B
2. A
3. D
4 C

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

U4 57 i sl w AhE Y, g WOl R A F e v gl g 32
i 1 Rfras, Sftae, dRREE

X 2 AR, fifemw AR e

X 3 AehfRrs, S 3t sfmw

X + afermR, a3t e

Q4
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T 7T FUET W AR # H B o & SR smunenst F ¥ slF O e euw
safa &

FYA:

SRR # o FEe W TH Fa F v @it w@fFemst i Reror st & o do
TS B

HIYROM :

I. 2o LT I JAAT FA H A= gl
||.mmﬁraa:q§‘ﬂ?ra:ﬁvémgwwem

Ane X1 Faer Il aERa B
X 2 Faer | dafafea 2
v | 3R I g g Hafated g
Xegarisiwad st ¥

Y oRa ¥ oRue Hr Fdle oA F e Fa 97
Ans K1~ éqéa_

V2 g dLHR. 3EEEaT

X 3 3. ST 9IS

K 4 FATET AT AS®

Q4
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ofd MN ¥@T1 W U0l 3@T 9ral g, d MY 31$ia &1 quu
gifers I

Q4
5

Ans

forer =1E & aER forw U2 & v Fed SUEr gEU e 87
Departure

11:00amto 12:00 pm
10:00am to 11:00am
S:00amto 10:00am
8:00am to 9:00 am H Departure

F:00am to 8:00 am

6:00am to 7:00 am

0 05 1 5 2 25 3 35 4 45

/< 1.8:00 am & 9:00 am
/2 9:00 am & 10:00 am
v 2 6:00 am ¥ 7:00 am
/4 7:00 am & 8:00 am
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Q4 Fema AT pH A= 6 %, Reoa B F pH AT @ iR Remm C FT pH A7 2 %1 rm Temw
6 FESITT 3A &7 Wigar Feg e geie

Ans J1C
X2 T & off grEgiee 3mae =8 §
X3 B
X A

% zm smen Fr 3eTEr TEAT AT
14, 42, 126,

Ans X 1. 376

v'2 378

<3 370
X 4 375

Q4 gurm F Al A F A TGS T F FAE T 7oA TeEd=aReT @ (GES-2017) # 3gEes
8 frwa am

"V g
X2 34T oF T
X 3. BATes T
X 4 Helr TFT
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@4 Which actor’s autobiography is titled as “Khullam Khulla*?
Ans  of 1. Rishi Kapoor

/< 2. Ranbir Kapoor

/< 3. Raj Kapoor

/< 4 Rajiv Kapoor

L T T AT 3N T F G F FEU F A8 RE & A
A)FR
B)9reR
C)3771E

Ans

01-5 The sum of the first 2007 terms of the sequence 1, 2, 3.4, 1, 2, 3. 4, is:

Ans 15013
v 2 5016
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< 35020
X 4 5107

Q.5 v aw Fuet 7 fvwst #F comEs 9 AR O & i @ Tred afeE w7 & e 1 ame
I {

FYeA:
o T A A E
o Tefr iR -3 BT #)

e
1. @ s s
2. Tl amepfaar Anw #

K Bt s e e E
Vv 2 g TASHY HFEIOT FE HAT §
X o Al ST 1 FFEIT FIT &
X 4. haeT fASHY 2 IFFEOT FIAT B

Q.5 gife swdw Rftd e = 3T # wmfeg IBSF T fefwdw AfPqa=tag 2017 i &
3

Ane X e aifEew
X 2 FHAY ATEreT
v 3 gma T=amf
X 4 g Far

(& Teachingninia.in
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_|_ o — nn

A B Cc D
Ans ?(1- C
X2B
KA
v4D

U5 Shamesr Sut STot R IS FE, AR AR FOW & SiiFETEs Hgend &
X fET swaes

v 2 3T HiedEs

X 3. 3ermedA! TeraTsE

X o T HFAES

Q.5 7 F==% 2017 99K FEEE "R s H#R e @ (@@ F o e F e F
6 frafafee & ¥ B e fer

e X @Y. THFSIH
X2 g, .
X 3 FArerH A
v i geie Fifte

(& Teachingninia.in
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% 552-232+0.8°x0.12+0.4*-314="
Ans X 1.0.51

X2 -0.63

V'3 —0.51

X4 042

Q.5 e et # SEen # FS U FAGEN 5% A4 8, 36 o 6edl # GFedt & ¥ we Hivw
100300005,2000400000,300040006,
400000600000008

Ans  of 1. 300040006
# 2. 2000400000
3. 100300005
X 4. 400000600000008

Q.5 s AR ST 6% TH W A F § O 3W 6% F W A=A H gear A T 870 A e 7
9 Fewmw B F w2 TE@ T

Ans of 1.7 7250
X 2 76265
X 337000
X 4 76000

U sew ¥ SiuEg & gEer AT Wi BT o9

Ans

Page (22)
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X . BaEr . g
X 2 = AT

Xs qu g T
VAR

Q.6
1

Ans  of 1. Force
< 2. Pressure
/< 3. Momentum

/< 4 Velocity

never occurs singly in nature.

7 .-
Q.6 ol Fua & @ fg | 7 1| F @ & T9F JAFa & 7% Rw 7w F| 72 MR FF ® R H
2 i v & B S aF Fue & Tel & gae
T
FT TTATEF o F BT o wEEd w1 & ok
T
I. &, 2w Few & P & Ageagr £
Il. =&, o= ot ¥ s g = 6 7= £ ¥ R 3= e Ft § wEen ==

A ae % | wad B

X2 2 & 7% | 3R 1 vaer 7@ F
X 3 & T || va T gl

X4 gt & @ | #A 1 geer

(& Teachingninia.in
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Q.6 T 13 m T WE F IR F @Y A T F AR W 7 oAeen fE, AR e s m A g W
3 ¥ @R & @y gE &Y T T W A FEE & AT a4 2

Ans of 1 60°
X 2 45°
<3 30°
< 4 105°

Q.6 cfirr$ 2w 2018 & v #RAT &= % wog@ (9% & fnm) & w0 A Pl & & B g
4 g

" e oo
X 2 fefig=g i

X 3 =g Hgar

X 4 qHAfRR e

% e F 39w A & e G s d
Ans x1:.ﬂ-_:_.|.

X 2 fam

(3.@

X 4 ey

066 frafaf@a & & e 2018 # T FfoEH FFAE [EFR § FFATAG [T 71T or?

Ans

(& Teachingninia.in
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X 1. Afesr arms
X 2 QETAT HTSAT
v 3 Y Ter AR
X4 Bl FwaATs

0%6 Teafaiaa =T g@er # Tod e (?) & Fi9 @1 Fwew = sfawnfa s
EEE R TEN

8]

ICET=ER

Q.6 ¥erEEe # #ET gdT TolEd UIHSAREY ey §Fdes (GES -2017) &1 3= §gad 79 § A
8 s gEwr fm AT aml AR (NITY) 7 907 w9 7w

K. e gEdege At $R

v 2 AU FEICYA HH WA SisaT
X o A SEITAS TasH 3w

X 4 FAUAST AT TARIET SFHIHAA
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Q.6 wfafem 8 U Fw w0F T 18 A F v forare e &1 12 RS & of BFow e F RSy
9 gfafe fraer B forger wRe?

e X 15 g2
X29ge
V312 ge
X410 g2

Q.7 7o gan 12 T & wroa 3 1 SEa 25 §1 W # 39 o w1 AEa 28 3 g A 5E
0 msmﬁmmmmwm#mxmma:mm4mﬁﬁmmm
ST F=ar gem?

Ans X 1. 28
X2 26
X3 27
v+ 29

Vodoraw & wRaT B
A 1 mer T feer & fada
X 2 gor &7 fgar & & For W
X 3. g Fr fEer & dEag
Ko gor iy fam H#

Page (26)
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Q.7 sddm Fggm ® (IMF) ZaRT 2018-19 & aRT 1 Wenel @i, 3c18 (GDP) #7 ¥gAifae gfa ax fraetr

2 &

Ans of 1. 7.3%
X2 85%
X3 6%
X 4 9%

% 100 asf #r @™ F oy &9 av a9 2
Ans X122

X2 25

X3 23

v 24

Q.7 A current of 0.5 A is maintained in a resistor of 10 Q. The amount of charge flowing throwing the resistor in one minute

4 s

Ans X1 20C
X205C
X3 5C
v 30C

% wmefera & UT B AN YeT A e Faw §-
Ans Vl ﬂ E

(& Teachingninia.in
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X2 e
X 3 sidEee
X 4 Bellload eI

Y

Q770 + 5 x (10 -8 +2) + 3 =?
Ans X1 3

X227

v 28

1
4. =
?<F 3

U 3w T e A G SR SR et [ Fe 6
A 1 HEAE SEH &

XZE'!FITaT:ﬂ'

X3 yfef ==

24 frerelr =T

Q7 % T ¥ vAEwF F FeOAe FEAT 298 ¥ IR 3EH Afee A 189 =g €, df sEEr Ay
Hear w4 gelr ?

Ans  X'1.189.0
< 2 298.0
< 3 487.0

Page (28)
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v 4. 109.0

Y oRa F Tad [N aw &7 #a ¥ 17 7w {2
Ans o | TSI

V' 3¥EA

X3 =g

X o TERTSE

© e 3 AT FE W v B
g s

X2 AR

X St

XK 75 faweh

T ofefier Sefaege TREeET FE 78 W) g W §2
AnS o1 e

2 TmerEy

Al

X4 FEd

Page (29)
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L FIFA AeT ToaT 3EE-2017 AT & @ oy far
ane X 1. Fareiverer A

X 2 FET T

53 matﬁ'ﬁﬂ?

v 4 fFfEearEr Jaresr

Q.8 Two bones can be connected to each other by another type of connective tissue called the

3

Ans 3 1. Cartilage
+ 2 Ligament
X 3. Matrix
< 4 Tendons

U8 Fa ew AT 15 el # o 7ed 9 ¥ 30 Revel @ Aqew FAw EvM?
ans 1% 16

K23 15

v 718

X4z 19

(& Teachingninia.in
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Q.8
5

38 e BT & 909 &Y Fr 9o RS fr g@er #F @ S

g9 =

FEEN LY £¥x /1 ?

ICCTo= I EER

E¥s/+ E¥es \ E¥\st M

Q.8
6

Ans

T e faffes & 9ger geg avfSas #fed (CCo) #ia &2
v . e AT

X 2 i arg

X 3. THI AZEY

X+ gfera T

Q.8
7

The process where electricity is passed through 10% NaCl is called

Page (31)
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Ans X 1. Bayers process
/< 2. Chlor-salt process
7< 3. Hall —Heroult process
« 4 Chlor-alkali process

% 29 AT, 2020 Fr FHT T BT M2
Ans o1 QAR

X 2 arfaa

v IREER

K 4 Far

Q.8 A T TIAA A, FEEH B AT H 16 A F 4 A FA §| 26 39 Uge, Inaw A A AT F A
9 ¥y ¥ e T FF @ sm@raﬁmﬂm%ﬁaﬁ%?

Ans X 1. 68
X 2 60
X3 84
v 78

Q.9

Page (32)
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‘What is the horizontal mirror image of REST?

REST 1238 ||| wezy v
A B i D
Ans 1 A
v2C
X3 B
X 4D

QiQWWﬁmﬁﬁaﬁﬁmamﬁqﬁgU%ﬁ
Ans x1mﬁ$

X 2 HFaT

v 3 JehRIe g

X 4 Reafea

Q.9 110 m =& &= fowdr afd 36 kmihr ¥, & A @Y &7 v TFY F 90 Fa F 53 Tas o 2
2 zpy 3w R @ TR B TR g0 W9 ARSI

Ans o 1420 m
X2 640 m
231798 m
X 4530 m

(& Teachingninia.in
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Q?;" feart & BT 9 & o7 TR BT F g 3R A e sldg et
A o AT

X< 2. g

X3 3y weer

X 4 ofgy seer

Qf e 3k Y g &1 A = o e F e e ¥ e w9 & welta

Ans x.l_ tﬁ?ﬁ'
v 2 O
X5 e
X 4 =T

Q0 sw ufEr ¥ 1316 Red 7 7ew A= wt BEE 97 By & wem 110,116 #

Ans X1 F 6394.75
X 2 ¥ 6391.75
X 3 ¥ 6302.75
v+ F 6392.75

Q.9 zfr ve smre @ 1,000 W 3fha & & 9fafe 3 o womr o &, & 39 @ 30 Rer A
6 susEa T Bt KWh & -

Ans < 1. 90000
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2 29000
'3 90
X 2900

Qf ‘Which of the option figures bears the closest resemblance to the question figure?

Question Figure:

A

Option Figures:

A B C D

(=

G
&

Ans ?(1-

X
=B o Nl w i

Q.9 15 i FET TEH TF W H IEAT ¥ TS T G T @ F o 7 Iemma wor 300 F wer Fr 6w
7.3 m THT A R Iewm w07 450 & smar ¥ i @ we & S A A (FE V3 =1.73)

Ans X 1.10 m
X285 m
v':115m
X411 m

(& Teachingninia.in
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QI g+ @, “E HT X, T AT F T L, AT 23-4+ 15 x 3+ 10 & A

9 Fr gem?

Ans X1.110
#2100
X3 95
v 97

G e amgte & fraw e 2

Ans of 1. 16
X214
X317
X413

(& Teachingninia.in
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